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https://www.100test.com/kao_ti2020/267/2021 2022 2007 _E8 8B
Bl E8 AF AD c83 267885.htm 1. In the of the project
not being a success, the investors stand to lose up to $30 million. A)
face B) time C) event D) course 2. , he does get annoyed
with her sometimes. A) Although much he likes her B) Much
although he likes her C) As he likes her much D) Much as he likes
her 3. The British constitution is a large extent a product of
the historical events described above. A) within B) to C) by D) at 4
I I suggested he should himself to his new conditions.
A)adapt B)adopt C)regulate D)suit 5.Cancellation of the flight
many passengers to spend the night at the airport.
A)resulted B)obliged C)demanded D)recommended 100Test [J [
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